NET FRAMEWORK

1. Which of the following statements are TRUE about the .NET CLR?

=

It provides a language-neutral development & execution environment.

2. Itensures that an application would not be able to access memory that it is not
authorized to access.

It provides services to run "managed" applications.

The resources are garbage collected.

It provides services to run "unmanaged" applications.

ok w

A. Onlyland?2
B. Onlyl,2and4
C. 1,234

D. Only4and5
E. Only3and4

2. Which of the following are valid .NET'CLR JIT performance counters?

Total memory used for JIT compilation

Average memory used for JIT compilation

Number of methods that failed to compile with the standard JIT
Percentage of processor time spent performing JIT compilation
Percentage of memory currently dedicated for JIT compilation

AR A

A 1,5
B. 3,4
C. 12

D. 4,5

3. Which of the following statements is correct about Managed Code?

A.  Managed code is the code that is compiled by the JIT compilers.
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Managed code is the code where resources are Garbage Collected.
Managed code is the code that runs on top of Windows.
Managed code is the code that is written to target the services of the CLR.

Managed code is the code that can run on top of Linux.

4. Which of the following utilities can be used to compile managed assemblies into processor-
specific native code?

A.

C.

E.

gacutil B. ngen
sn D. dumpbin
ildasm

5. Which of the following are NOT true about .NET Framework?

1.

C.

D.

It provides a consistent object-oriented programming environment whether object
code is stored and executed locally, executed locally but Internet-distributed, or
executed remotely.

It provides a code-execution environment that minimizes software deploymentand
versioning conflicts.

It provides a code-execution environment that promotes safe execution of code,
including code created by an unknown or semi-trusted third party.

It provides different. programming models for Windows-based applications and Web-
based applications.

It provides an event driven programming model for building Windows Device
Drivers.

1,2
2,4
4,5

1,2,4

6. Which of the following components of the .NET framework provide an extensible set of
classes that can be used by any .NET compliant programming language?
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A.  .NET class libraries

B. Common Language Runtime

C. Common Language Infrastructure
D. Component Object Model

E. Common Type System

7. Which of the following jobs are NOT performed by Garbage Collector?

Freeing memory on the stack.

Avoiding memory leaks.

Freeing memory occupied by unreferenced objects.
Closing unclosed database collections.

Closing unclosed files.

agkrownE

A 1,23
B. 3,5
C. 1,45

D. 3,4

8. Which of the following .NET components can be used to remove unused references from the
managed heap?

A.  Common Language Infrastructure
B~ 1CLR

C. Garbage Collector

D. Class Loader

E. CTS

9. Which of the following statements correctly define .NET Framework?
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It is an environment for developing, building, deploying and
executing DesktopApplications, Web Applications and Web Services.

It is an environment for developing, building, deploying and executing only Web
Applications.

It is an environment for developing, building, deploying and executing Distributed
Applications.

It is an environment for developing, building, deploying and executing Web
Services.

It is an environment for development and execution of Windows applications.

10. Which of the following constitutes the .NET Framework?

C.

D.

agkrownE

ASP.NET Applications
CLR

Framework Class Library
WinForm Applications
Windows Services

1,2
2,3
3,4

2,5

11. Which of the following assemblies can be stored in Global Assembly Cache?

A,

B.

Private Assemblies

Friend Assemblies

Shared Assemblies

Public Assemblies

Protected Assemblies
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12. Code that targets the Common Language Runtime is known as

A. Unmanaged

B.  Distributed

C. Legacy

D. Managed Code

E. Native Code

13. Which of the following statements is correct about the .NET Framework?

A. .NET Framework uses DCOM for achieving language interoperability.
B. .NET Framework is built on the DCOM technology.

.NET Framework uses DCOM for making transition between managed and
unmanaged code.

D. .NET Framework uses DCOM for creating unmanaged applications.

E. .NET Framework uses COM+ services while creating Distributed Applications.

14. Which of the following-is the root of the .NET type hierarchy?
A.  System.Object

B. System.Type
C.. _System.Base
D. = System.Parent
E. System.Root

15. Which of the following benefits do we get on running managed code under CLR?

1. Type safety of the code running under CLR is assured.
2. ltisensured that an application would not access the memory that it is not authorized
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to access.
3. It launches separate process for every application running under it.
4. The resources are Garbage collected.

A. Onlyland?2
B. Only2 3and4
C. Onlyl,2and4
D. Only4
E. All of the above
16. Which of the following security features can .NET applications avail?
PIN Security
Code Access Security
Role Based Security

Authentication Security
Biorhythm Security

agkrownE

A 1,45
B. 2,5
C. 2,3

D. 3,4

17. Which of the following jobs are done by Common Language Runtime?

1. It provides core services such as memory management, thread management, and
remoting.

2. It enforces strict type safety.

It provides Code Access Security.

4. 1t provides Garbage Collection Services.

w

A. Onlyland2

B. Only34
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C.

D.

E.

Only 1,3and 4
Only 2,3 and 4

All of the above

18. Which of the following statements are correct about a .NET Assembly?

agkrownE

A.

C.

D.

It is the smallest deployable unit.

Each assembly has only one entry point - Main(), WinMain() or DLLMain().
An assembly can be a Shared assembly or a Private assembly.

An assembly can contain only code and data.

An assembly is always in the form of an EXE file.

1,2,3
2,4,5
1,35

1,2

19. Which of the following statements are correct about JIT?

Eall el

JIT compiler compiles instructions into machine code at run time.

The code compiler by the JIT compiler runs under CLR.

The instructions.compiled by JIT compilers are written in native code.

The instructions compiled by JIT compilers are written in Intermediate Language (IL)
code.

Themethodis JIT compiled even if it is not called

1,23
2,4
3,4,5

1,2
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20. Which of the following are parts of the .NET Framework?

agkrownE

The Common Language Runtime (CLR)
The Framework Class Libraries (FCL)
Microsoft Published Web Services
Applications deployed on 11S

Mobile Applications

Only1,2,3
Only 1,2
Only 1,24
Only 4,5

All of the above
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OPERATORS

1. Which of the following are the correct ways to increment the value of variable a by 1?

++a++;
a+=1;
at++1;
a=a+l;
a=+1;

oL PE

A 1,3
B. 2,4
cC. 3,5
D. 4,5

E. None of these

2. What will be the output of the C# NET code snippet given below?

byte bl = OxF7;

byte b2 = OxAB;

byte temp;

temp = (byte)(b1 & b2);
Console.Write (temp + " ™);
temp = (byte)(b1"b2);
Console.WriteLine(temp);

A. 16392
B 1192163
C. 19263
D. 01

3. Which of the following is NOT an Arithmetic operator in C#.NET?
A. ** B +


javascript:%20void%200;
javascript:%20void%200;
javascript:%20void%200;
javascript:%20void%200;
javascript:%20void%200;
javascript:%20void%200;
javascript:%20void%200;
javascript:%20void%200;
javascript:%20void%200;
javascript:%20void%200;
javascript:%20void%200;

4. Which of the following are NOT Relational operators in C#NET?

1. >=
2. 1=
3. Not
4, <=
5. <>=

A 13
B. 2,4
C. 35
D. 4,5

E. None of these

5. Which of the following is NOT a Bitwise operator in C#£NET?

A & B. |
C. << D. N
E. -

6. Which of the following statements is correct about the C#.NET code snippet given below?

int d;
d = Convert.ToInt32( (30 < 20) );

A.  Avalue 0 will be assigned to d.
B.  Avalue 1 will be assigned to d.

C. Avvalue -1 will be assigned to d.
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D.

E.

7. Wh

The code reports an error.

The code snippet will work correctly if ! is replaced by Not.

ich of the following is the correct output for the C#NET code snippet given below?

Console.WriteLine(13/2 +" " + 13 % 2);

A.

B.

C.

D.

E.

8. Wh

9. Wh

6.51
6.50
60
61
6.56.5

ich of the following statements are correct-about the Bitwise & operator used in C#.NET?

The & operator can be used to Invert a bit.

The & operator can be used to put ON a bit.

The & operator can be used to put OFF a bit.

The & operator can be used to.check whether a bit is ON.
The & operator can be used to check whether a bit is OFF.

orwdPE

1,2,4

2,3,5

3,4

3,4,5

None of these

ich of the following are Logical operators in C#.NET?

1. &&
2. ||
3.1
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4. Xor

5. %
A 1,23
B. 13,4
C. 2,45
D. 3,45

E. None of these

10. Suppose n is a variable of the type Byte and we wish, to check whether its fourth bit (from
right) is ON or OFF. Which of the following statements will do this correctly?

if (n&16) == 16)
Console.WriteLine("Third bit is ON™);

B if (n&8) ==18)

" Console.WriteLine("Third bit is ON");
C if (n!8)==8)

" Console.WriteLine("Third bit is ON");
D if (n"8)==28)

" Console.WriteLine("Third bit is ON");
E if (n~8)==8)

Console. WriteLine("Third bit is ON™);

11. What will be the output of the C#£NET code snippet given below?

inthum=1,z=5;

if (1(num <=0))
Console.WriteLine( ++num + z++ + " " + ++z);
else
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Console.WriteLine( --num + z-- + " " + --z2);

A. 56
B. 65
C. 66
D. 77

12. Suppose n is a variable of the type Byte and we wish to put OFF its fourth bit (from right)
without disturbing any other bits. Which of the following statements will do this correctly?

A. n=n&&HF7
B. n=n&1l6

C. n=n&0xF7

D. n=n&HexF/

E. n=né&8

13. What will be the output of the C#.NET code snippet given below?

byte bl = OXAB;

byte b2 = 0x99;

byte temp;

temp = (byte)~b2;
Console.Write(temp + ™ *);
temp = (byte)(b1 << b2);
Console.Write (temp + " ");
temp = (byte) (b2 >> 2);
Console.WriteLine(temp);

A. 102138
B. 108032

C. 102038
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D. 101

14. Which of the following statements is correct about Bitwise | operator used in C#.NET?

A. The | operator can be used to put OFF a bit.

B.  The | operator can be used to Invert a bit.

C. The | operator can be used to check whether a bit is ON.
D. The | operator can be used to check whether a bit is OFF.

E. The | operator can be used to put ON a bit.

15. Which of the following is NOT an Assignment operator in.C#.NET?

A \= B. .[I=-
C. *= D. " +=
E. %=

16. What will be the output of the C#£NET code snippet given below?

inti,j=1,k
for (i = 0: i < 5; i++)
{

K=j++ + +4j;
Console.Write(k + " ");
}

A. 84161220
B, 48121620
C. 48163264

D. 246810

17. What will be the output of the C#£NET code snippet given below?
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inta=10,b =20, c=30;
intres=a<b?a<c?c:a:b;
Console.WriteLine(res);

A.

B.

C.

D.

10
20
30

Compile Error / Syntax Error

18. Which of the following statements are correct about the following code snippet?

inta=10;
int b = 20;
bool c;
c=1!(a>h);
1. There is no error in the code snippet.
2. An error will be reported since ! can work only with an int.
3. Avalue 1 will be assigned to c.
4. A value True will be assigned.to c.
5. A value False will be assigned to c.
A 13
B. 2,4
C. 45
D. 14
E. None of these

19. Which of the following statements is correct about Bitwise ” operator used in C#.NET?

A

B.

The " operator can be used to put ON a bit.

The ™ operator can be used to put OFF a bit.
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C.

D.

E.

The " operator can be used to Invert a bit.
The " operator can be used to check whether a bit is ON.

The " operator can be used to check whether a bit is OFF.

20. Which of the following statements are correct?

1.

ok w

The conditional operator (?:) returns one of two values depending on the value of a
Boolean expression.

The as operator in C#.NET is used to perform conversions between compatible
reference types.

The &* operator is also used to declare pointer types and to-dereference pointers.
The -> operator combines pointer dereferencing and member access.

In addition to being used to specify the order of operations in.an expression,
brackets [ ] are used to specify casts or type conversions.

1,2,4
2,3,5
3,4,5
1,3,5

None of these
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CONSTRUCTORS

1. Which of the following statements is correct?

A. A constructor can be used to set default values and limit instantiation.
B.  C# provides a copy constructor.
C. Destructors are used with classes as well as structures.

D.  Aclass can have more than one destructor.
2. Which of the following statements is correct about the C#£NET code snippet given below?

namespace IndiabixConsoleApplication

{

class Sample

{
public int func()
{

return 1;

¥
public Single func()
{

¥
¥

class Program

{

static void Main(string[ ] args)

{

return 2.4f ;

Sample s1 = new Sample();
inti;

i = s1.func();

Single j;

J = sl.func();

A.  func() is a valid overloaded function.

B.  Overloading works only in case of subroutines and not in case of functions.
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func() cannot be considered overloaded because: return value cannot be used to
distinguish between two overloaded functions.

D. Thecall toi=sl.func() will assign 1 toi.

E. Thecall j = s1.func() will assign 2.4 to j.

3. Which of the following ways to create an object of the Sample class given below will work
correctly?

class Sample

t
inti;
Single j;
double k;
public Sample (int ii, Single jj, double kk)

A.  Sample sl = new Sample();

B.  Sample s1 = new Sample(10);

C. Sample s2 = new Sample(10, 1.2f);

D. Sample s3=new Sample(10, 1.2f, 2.4);

E. . Sample s1 = new Sample(, , 2.5);

4. Which of the following statements are correct about static functions?

Static functions can access only static data.

Static functions cannot call instance functions.

It is necessary to initialize static data.

Instance functions can call static functions and access static data.
this reference is passed to static functions.

orwdPE
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A 124

B. 2,35
C. 34
D. 4,5

E. None of these

5. Which of the following statements is correct about constructors?

If we provide a one-argument constructor then the compiler still provides

A.
a zero-argument constructor.

B.  Static constructors can use optional arguments.
C. Overloaded constructors cannot use optional arguments.

If we do not provide a constructor, then the compiler provides a zero-

D.
argument constructor.

6. Which of the following is the correct way to define the
constructor(s) of the Sample class if we are to create objects as
per the C#£NET code snippet given below?

Sample s1 = new Sample();
Sample s2 = new Sample(9, 5.6f);

public Sample()

{
i=0;
j =0.0f;

At
" public Sample (int ii, Single jj)

B. public Sample (Optional int ii = 0, Optional Single jj =
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0.0f)

t
i=ii;
1=1i;

}

public Sample (int ii, Single jj)
t
C. =11
i=1i
}

D. Samples;

E. s=new Sample();

7. In which of the following should the methods of a class differ if
they are to be treated as overloaded methods?

Type of arguments
Return type of methods
Number of arguments
Names of methods
Order of arguments

orwdPE

A 2,4
B. 3,5
C. 1,385

D. 3,45

8. Can static procedures access instance data?

A. Yes B. No

9. Which of the following statements are correct
about constructors in C#.NET?
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=

Constructors cannot be overloaded.
2. Constructors always have the name same as the name of
the class.

3. Constructors are never called explicitly.
4. Constructors never return any value.
5. Constructors allocate space for the object in memory.
A 1,35
B. 2,34
C. 3,5
D. 4,5

E. None of these

10. How many times can a constructor be called during lifetime of the
object?

A.  As many times as we call it.
B. Onlyonce.

Depends upon a Project Setting made in Visual
Studio.NET.

Any number of times before the object gets garbage
collected.

E.  Any number of times before the object is deleted.
11. Is it possible to invoke Garbage Collector explicitly?
A. Yes B. No

12. Which of the following statements are correct about the C#£NET code snippet given below?

class Sample

{
static int i;
int j;
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ky

13. Which of the following statements is correct?

14. Is it possible for you to prevent an object from being created by using zero argument

public void procl()
{
i=11;
j=22;
}
public static void proc2()

{ .

1
2;

i
i
static Sample()

0;
0

i
J
¥

A. icannot be initialized in procl().

B.  procl() can initialize i as well as j.

C. jcan be initialized in proc2().

D.  The constructor can never be-declaredas static.

E. proc2() can initialize i as well as j.

A. There is one garbage collector per program running in memory.

B.  There is.one common garbage collector for all programs.

it.

Studio.NET.

constructor?

A. Yes

An object is destroyed by the garbage collector when only one reference refers to

We have to specifically run the garbage collector after executing Visual
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15. Which of the following statements are correct about static functions?

A.  Static functions are invoked using objects of a class.
B.  Static functions can access static data as well as instance data.
C.  Static functions are outside the class scope.

D.  Static functions are invoked using class.

16. What will be the output of the C#NET code snippet given below?

namespace IndiabixConsoleApplication

{
class Sample
{
static Sample()
{
Console.Write("Sample class ");
}
public static void Bix1()
{
Console.Write("Bix1 method *);
}
}
class MyProgram
{
static void Main(string[ ] args)
{
Sample.Bix1();
}
}
}
A.  Sample class Bix1 method
B. Bix1 method
C. Sample class
D. Bix1 method Sample class
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E.  Sample class Sample class

Which of the following statements is correct about constructors in C#.NET?

A. A constructor cannot be declared as private.

B. A constructor cannot be overloaded.

C. A constructor can be a static constructor.

D. A constructor cannot access static data.

E. this reference is never passed to a constructor.

18. What will be the output of the C#£NET code snippet given below?

namespace IndiabixConsoleApplication

{

class Sample

{
public static void funi()

{
Console.WriteLine("Bix1 method");

¥
public void fun2()

{
funl();
Console.WriteLine("Bix2 method");

public void fun2(int i)

{
Console.WriteLine(i);
fun2();

ks
¥

class MyProgram

{
static void Main(string[ ] args)

{
Sample s = new Sample();
Sample.funi();
s.fun2(123);
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Bix1 method
123

Bix| method
Bix2 method

Bix1 method
123
Bix2 method

Bix2 method
123

Bix2 method
Bix| method

BixI method
123

Bix2 method
123
Bix| method
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STRINGS

1. Which of the following statements are true about the C#NET code snippet given below?

String s1, s2;
sl ="Hi";
s2 = "Hi";
1. String objects cannot be created without using new.
2. Only one object will get created.
3. sl and s2 both will refer to the same object.
4. Two objects will get created, one pointed to by s1 and another pointed to by s2.
5. sl and s2 are references to the same object.
A 1,24
B. 2,35
C. 34
D. 2,5

2. Which of the following will be the correct output for the C#NET code snippet given below?

String s1 = "ALL MEN ARE CREATED EQUAL";
String s2;

s2 = s1.Substring(12, 3);

Console.WriteLine(s2);

A. ARE B. CRE
C. CR D. REA
E.~ . CREATED

3. Which of the following statements will correctly copy the contents of one string into another
?

String s1 = "String";

A.  String s2;
s2 =s1;
B String s1 = "String" ;

String s2;


javascript:%20void%200;
javascript:%20void%200;
javascript:%20void%200;
javascript:%20void%200;
javascript:%20void%200;
javascript:%20void%200;
javascript:%20void%200;
javascript:%20void%200;
javascript:%20void%200;
javascript:%20void%200;
javascript:%20void%200;

s2 = String.Concat(s1, s2);

String s1 = "String";
C. String s2;
s2 = String.Copy(sl);

String s1 = "String";
D.  String s2;
s2 = s1.Replace();

String s1 = "String";

E.  String s2;
s2 = s2.StringCopy(sl);

4. The string built using the String class are immutable (unchangeable), whereas, the ones built-
using the StringBuilder class are mutable.

A.  True B. False
5. Which of the following will be the correct output for the C#NET code snippet given below?

String s1 = "Nagpur";
String s2;
s2 = sl.Insert(6, "Mumbai");
Console.WriteLine(s2);
A.  NagpuMumbair
B.  Nagpur Mumbai
C. Mumbai
D. Nagpur

E. ' NagpurMumbai

6. If sl and s2 are references to two strings, then which of the following is the correct way to
compare the two references?

A. sliss2

B. sl =s2
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C. sl==sg2
D. strcmp(sl, s2)

E. sl.Equals(s2)

7. What will be the output of the C#£NET code snippet given below?

namespace IndiabixConsoleApplication

{
class SampleProgram
{
static void Main(string[ ] args)
{
string str= "Hello World!";
Console.WriteLine( String.Compare(str, "Hello World?" ).GetType() );
}
}
}
A 0
B. 1
C. String

D. Hello World?

E. System.Int32

8. Which of the following snippets are the correct way to convert a Single into a String?

1. Single f = 9.8f;

2. Strings;

3. s=(String) (f);

4. Single f = 9.8f;

5. Strings;

6. s = Convert.ToString(f);
7. Single f =9.8f;

8. Strings;

9. s=f.ToString();

10. Single f = 9.8f;
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11. String s;

12. s = CInt(f);

13. Single f = 9.8f;
14. String s;

15. s = CString(f);

A 1,2
B. 2,3
cC. 1,385

D. 2,4

9. Which of the following will be the correct output for the C#NET code snippet given below?

String s1="Kicit";
Console.Write(s1.IndexOf('c’) + " *);
Console.Write(s1.Length);

A. 36
B. 25
C. 35
D. 26
E. 37

10. Which of the following is correct way to convert a String to an int?

1. String s ="123";
2. inti;

3. 1=(int)s;

4. Strings="123";
5. inti;

6. i=int.Parse(s);

7. String s ="123";
8. inti;

9. 1= Int32.Parse(s);
10. String s = "123";
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11.inti;
12. i = Convert.ToInt32(s);
13. String s = "123";
14.inti;
15. i = CInt(s);

A. 1,35

B. 24

C. 3,5

D. 2,34
11. Which of the following statements about a String is correct?

A. A String is created on the stack.

Whether a String is created on the stack or the-heap depends on the length of the
String.

C. AString is a primitive.
D. A String can be created by using the statement String s1 = new String;

E. A String is created on the heap.

12. Which of the following statement is correct about a String in C#.NET?

A. A String is mutable because it can be modified once it has been created.
B.  Methods of the String class can be used to modify the string.

C. A number CANNOT be represented in the form of a String.

D. A String has a zero-based index.

E.  The System.Array class is used to represent a string.
13. Which of the following will be the correct output for the C#NET code snippet given below?

String s1 = "Five Star";
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String s2 = "FIVE STAR";
intc;

¢ =sl1.CompareTo(s2);
Console.WriteLine(c);

A 0 B 1
cC. 2 D. -1
E. -2

14. If s1 and s2 are references to two strings then which of the following are the correct ways to
find whether the contents of the two strings are equal?

1. if(sl=s2)

2. if(s1==s2)

3. intc;

4. c¢=sl.CompareTo(s2);
5. if( strcmp(sl, s2))

6. if(sliss2)
A 1,2

B. 2,3

C. 4,5

D. 3,5

15. Which of the following statements are correct about the String Class in C#.NET?

Two strings can be concatenated by using an expression of the form s3 = sl + s2;
String is a primitive in C#.NET.

A string built using StringBuilder Class is Mutable.

A string built using String Class is Immutable.

Two strings can be concatenated by using an expression of the form s3 = s1&s2;

ARl A N

A 1,25

B. 2,4


javascript:%20void%200;
javascript:%20void%200;
javascript:%20void%200;
javascript:%20void%200;
javascript:%20void%200;
javascript:%20void%200;
javascript:%20void%200;
javascript:%20void%200;
javascript:%20void%200;
javascript:%20void%200;
javascript:%20void%200;

C.

D.

1,34

3,5

16. Which of the following statements are correct?

N

D.

String is a value type.

String literals can contain any character literal including escape sequences.

The equality operators are defined to compare the values of string objects as well as
references.

Attempting to access a character that is outside the bounds of the string results.in

an IndexOutOfRangeException.

The contents of a string object can be changed after the object is created.

1,3
3,5
2,4

1,2,4

17. Which of the following is the correct way to find out the index of the second 's' in the
string "She sells sea shells on the'sea-shore™?

A.

String str = "She sells sea shells on the sea-shore";
inti;
I = str.SecondIndexOf("s");

String str = "She sells sea shells on the sea-shore";
inti, j;

i = str.FirstindexOf("'s");

J = str.IndexOf("s", i + 1);

String str = "She sells sea shells on the sea-shore™;
inti, j;

I = str.IndexOf(*'s");

J = str.IndexOf("s", i + 1);

String str = "She sells sea shells on the sea-shore";
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inti, j;
I = str.LastindexOf(*'s");
j = str.IndexOf("s", i - 1);

String str = "She sells sea shells on the sea-shore";
inti, j;

I = str.IndexOf("S");

J = str.IndexOf("s", 1);
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PROPERTIES

1. A property can be declared inside a class, struct, Interface.

A. True B. False

2. Which of the following statements is correct about properties used in C#NET?

A. A property can simultaneously be read only or write only.
B. A property can be either read only or write only.
C. A write only property will have only get accessor.
D. A write only property will always return a value.

3. A Student class has a property called rolINo and stu is a reference to a Studentobject and we

want the statement stu.RolINo = 28 to fail. Which of the following options will ensure this
functionality?

A. Declare rolINo property with both get and set accessors.
B. Declare rolINo property with only set accessor.
C. Declare roliNo property with get, set and normal accessors.
D. Declare rolINo property with only get accessor.
E. None of the above
3. A Student class has a property called rolINo and stu is a reference to a Studentobject and we

want the statement stu.RolINo = 28 to fail. Which of the following options will ensure this
functionality?

A. Declare rolINo property with both get and set accessors.

B. Declare rolINo property with only set accessor.

O

Declare rolINo property with get, set and normal accessors.
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D. Declare rolINo property with only get accessor.

E. None of the above

View Answer Workspace Report Discuss in Forum

If a class Student has an indexer, then which of the following is the correct way to.declare
this indexer to make the C#.NET code snippet given below work successfully?

Student s = new Student();
s[1, 2] = 35;

class Student
{
int[ ] a = new int[5, 5];
public property WriteOnly int this[int i, int j]
{
set
{
a[i, j] = value;
}
}
}

>

class Student

{
int[ , ] a=new int[5, 5];
public int property WriteOnly
{

set

|

a[i, j] = value;
}
}
}

class Student

{
int[ , ] a=new int[5, 5];
public int this[int i, int {]

O
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{

set
afi, j] = value;
ks
¥
¥
class Student
{
int[ , ] a=new int[5, 5];
inti, j;
public int this
{
D. set
afi, j] = value;
¥
ks
k

5. Which of the following statements are correct?

The signature of an indexer consists of the number and types of its formal parameters.
Indexers are similar to properties except that their accessors take parameters.
Accessors of interface indexers use modifiers.

The type of an indexer and the type of its parameters must be at least as accessible as
the indexer itself.

5. An interface accessor contains a body.

el el

A 1,35
B. 1,24
C. 35
D. 2,4

6. If Sample class has a Length property with get and set accessors then which of the following
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statements will work correctly?

1. Sample.Length = 20;
2. Sample m = new Sample();
3. m.Length = 10;
4. Console.WriteLine(Sample.Length);
5. Sample m = new Sample();
6. intlen;
7. len = m.Length;
8. Sample m = new Sample();
9. m.Length = m.Length + 20;
A 1,3
B. 2,45
C. 4only
D. 3,5

7. Which of the following is the correct way to implement a write only property Length in
aSample class?

class Sample

{
public int Length

{

set
{
Length = value;
}
}
}

>

class Sample

{
B. int len;
- public int Length

{
get
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{

return len;
}
set
{
len = value;
}
}
}
class Sample
{
int len;
public int Length
{
C. WriteOnly set
{
len = value;
}
}
}
class Sample
{
int len;
public int Length
{
D. set
{
len = value;
}
}
}

8. A property can be declared inside a namespace or a procedure.

A. True B. False

9. Ifa Student class has an indexed property which is used to store or retrieve values to/from an
array of 5 integers, then which of the following are the correct ways to use this indexed
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property?

1. Student[3] = 34;
2. Student s = new Student();
3. s[3] =34,
4. Student s = new Student();
5. Console.WriteLine(s[3]);
6. Console.WriteLine(Student[3]);
7. Student.this s = new Student.this();
8. s[3] =34,
A 1,2
B. 2,3
C. 3,4
D. 3,5

10. If Sample class has a Length property with set accessor then which of the following
statements will work correctly?

Sample m = new Sample();

A. intl;
| = m.Length;

Sample m = new Sample();

B. m.Length = m.Length + 20;

C. Sample.Length = 20;

D. Console.WriteLine (Sample.Length);
E. Sample m = new Sample();

m.Length = 10;

11. If Sample class has a Length property with get accessor then which of the following
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statements will work correctly?

A,

|0

O

|©

E.

Sample m = new Sample();
m.Length = 10;

Sample m = new Sample();
m.Length = m.Length + 20;

Sample m = new Sample();
intl;
| = m.Length;

Sample.Length = 20;

Console.WriteLine(Sample.Length);

12. An Account class has a property called accountNo and acc is a reference to a bank object and
we want the C#.NET code snippet given below to work. Which of the following options will
ensure this functionality?

13.

acc.accountNo = 10;
Console.WriteLine(acc.accountNo);

A
B.
C.
D.

E.

Declare accountNo property with both get and set accessors.
Declare accountNo property with only get accessor.

Declare accountNo property with get, set and normal accessors.
Declare accountNo property with only set accessor.

None of the above

Suppose a Student class has an indexed property. This property is used to set or retrieve
values to/from an array of 5 integers called scores[]. We want the property to report "Invalid
Index" message if the user attempts to exceed the bounds of the array. Which of the
following is the correct way to implement this property?

A.

class Student
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|

O

{
int[] scores = new int[5] {3, 2, 4,1, 5};
public int this[ int index ]

{
set
{
if (index < 5)
scores[index] = value;
else
Console.WriteLine("Invalid Index™);
}
}
}

class Student

{
int[] scores = new int[5] {3, 2, 4, 1, 5};
public int this[ int index ]

{
get
if (index < 5)
return scores[ index |;
else
{
Console.WriteLine("Invalid Index™); return 0;
}
}
set
{
if (index < 5)
scores| index ] = value;
else
Console.WriteLine("Invalid Index™);
}
}
}

class Student

{
int[] scores = new int[5] {3, 2, 4, 1, 5};
public int this[ int index ]
{
get
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if (index < 5)
return scores[ index |;
else
{
Console.WriteLine("Invalid Index");
return O;
}

class Student
{
int[] scores = new int[5] {3, 2, 4, 1, 5};
public int this[ int index ]
{
get
{
if (index < 5)
scores[ index ] = value;
else
{
Console.WriteLine("Invalid Index™);
}
D.
= }

set

if (index <5)
return scores[ index J;

else

{
Console.WriteLine("Invalid Index");
return O;

¥
¥
ks
ks

14. Which of the following statements is correct about properties used in C#NET?

A.  Every property must have a set accessor and a get accessor.
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B.  Properties cannot be overloaded.
C.  Properties of a class are actually methods that work like data members.
D. A property has to be either read only or a write only.

15. Which of the following is the correct way to implement a read only property Length in
aSample class?

class Sample
{
int len;
public int Length
{
A. get
{
return len;
}
}
}

class Sample

{
public int Length

{
get
{
return Length;
}
}
}

B.

class Sample
{
int len;
public int Length
£ g
get
{

return len;

t
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set

{
len = value;
}
}
}
class Sample
{
int len;
public int Length
{
D. Readonly get
{
return len;
}
}
}

16. Which of the folowing does an indexer allow to index in the same way as an array?

A class

A property
A struct

A function
An interface

ko

>

1,3,5

|

2,4

O

3,5

D. 3,45

17. An Employee class has a property called age and emp is reference to a Employee object and
we want the statement Console.WriteLine(emp.age) to fail. Which of the following options
will ensure this functionality?

A. Declare age property with only get accessor.
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Declare age property with only set accessor.
Declare age property with both get and set accessors.
Declare age property with get, set and normal accessors.

None of the above
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POLYMORPHISM

1. Which of the following unary operators can be overloaded?

true
false
+
new
is

oL PE

A 1,23
B. 3,45
C. 3only

D. 5only

2. A derived class can stop virtual inheritance by declaring an override as

A. inherits

B. extends

C. inheritable

D. notinheritable

E. sealed

3. Which of the following keyword is used to change the data and behavior of a base class by
replacing a member of a base class with a new derived member?

A. new
B. base
C. overloads

D. override
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E.

overridable

4. Which of the following statements is correct?

A.

When used as a modifier, the new keyword explicitly hides a member inherited
from a base class.

Operator overloading works in different ways for structures and classes.
It is not necessary that all operator overloads are static methods of the class.

The cast operator can be overloaded.

5. Which of the following keyword is used to overload user-defined types by defining static
member functions?

A

B.

op

opoverload
operator
operatoroverload

udoperator

6. Which of the followings is the correct way to overload + operator?

A.

public sample operator + ( sample a, sample b)

public abstract operator + ( sample a, sample b)

public abstract sample operator + (sample a, sample b)

public static sample operator + ( sample a, sample b )
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E.

All of the above

7. Which of the following statements is correct?

A.

B.

Static methods can be a virtual method.
Abstract methods can be a virtual method.
It is necessary to override a virtual method.

When overriding a method, the names and type signatures of the override method
must be the same as the virtual method that is being overriden.

We can override virtual as well as non-virtual methods.

8. Which of the following statements are correct?

=

LI T b

|©

All operators in C#£NET can be overloaded.

We can use the new modifier to modify a nested type if the nested type is hiding
another type.

In case of operator overloading all parameters must be of the different type than the
class or struct that declares the operator.

Method overloading is used to create several methods with the same name that
performs similar tasks on similar data types.

Operator overloading permits the use of symbols to represent computations for a

type.
1,3
2,4
2,5

3,4

9. Which of the following statement is correct about the C#.NET code snippet given below?

public class Sample
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{

public int x;
public virtual void fun()

{}

public class DerivedSample : Sample

{

new public void fun()

1}
¥

A

|0

O

|©

DerivedSample class hides the fun() method of base class.

The DerivedSample class version of fun() method gets called using Sampleclass
reference which holds DerivedSample class object.

The code replaces the DerivedSample class version of fun() method with
itsSample class version.

It is not possible to hide Sample class version of fun() method without use
ofnew in DerivedSample class.

10. Which of the following statements is correct?

A

The conditional logical operators cannot be overloaded.

When a binary operator is overloaded the corresponding assignment operator, if
any, must be explicitly overloaded.

We can use the default equality operator in an overloaded implementation of the
equality operator.

A public or nested public reference type does not overload the equality operator.

The array indexing operator can be overloaded.

11. Which of the following operators cannot be overloaded?

1.
2.
3.

true
false
new


javascript:%20void%200;
javascript:%20void%200;
javascript:%20void%200;
javascript:%20void%200;
javascript:%20void%200;
javascript:%20void%200;
javascript:%20void%200;
javascript:%20void%200;
javascript:%20void%200;

~

ok~

sizeof
A 13
B. 2,4
C. 3,5

D. All of the above

12. Which of the following modifier is used when a virtual method is redefined by a derived
class?

A. overloads
B. override

C. overridable
D. virtual

E. Dbase

13. In order for an instance of a derived class to completely take over a class member from a
base class, the base class has to declare that member as

A. new
B. base
C. virtual

D. overrides

E. overloads

14. Which of the following can be declared as a virtual in a class?
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Methods
Properties
Events
Fields
Static fields

agbrownE

A 1,23
B. 3,5
C. 24

D. 2,35

15. Which of the following statements is correct?

A.  Only one object can be created from an abstract class.
B. By default methods are virtual.

If a derived class does not provide its own version of virtual method then the one
in the base class is used.

If the method in the derived class is not preceded by override keywords, the
D.  compiler will issue a warning and the method will behave as if the override
keyword were present.

E. Each derived class does not have its own version of a virtual method.

16. Which of the following are necessary for Run-time Polymorphism?

=

The overridden base method must be virtual, abstract or override.

2. Both the override method and the virtual method must have the same access
level modifier.

An override declaration can change the accessibility of the virtual method.
An abstract inherited property cannot be overridden in a derived class.

An abstract method is implicitly a virtual method.

ok w

>

1,3
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DATATYPES

Which of the following statements are correct about data types?

1.

ok w

o @ >

|©

A.

B.

A

B.

C.

If the integer literal exceeds the range of byte, a compilation error will
occur.

We cannot implicitly convert non-literal numeric types of larger storage size
tobyte.

Byte cannot be implicitly converted to float.

A char can be implicitly converted to only int data type.

We can cast the integral character codes.

1,35
2,4
3,5

1,2,5

. Which of the following is an 8-byte Integer?

Char

Long

Short

Byte

Integer

. Which of the following is NOT an Integer?

Char

Byte

Integer
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D.

E.

Short

Long

4. Which of the following statements is correct?

A

B.

Information is never lost during narrowing conversions.

The Clinteger() function can be used to convert a Single to an Integer.
Widening conversions take place automatically.

Assigning an Integer to an Object type is known as Unboxing.

3.14 can be treated as Decimal by using it in the form 3.14F.

5. Which of the following are value types?

orwdPE

Integer
Array
Single
String
Long

1,2,5
1,3,5
2,4

3,5

6. Which of the following does not store a sign?

A

B.

Short

Integer
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C. Long
D. Byte

E. Single

7. What is the size of a Decimal?

A. 4byte
B. 8hbyte
C. 16byte
D. 32byte

8. What will be the output of the following code snippet when it is executed?

intx=1;
float y = 1.1f;
shortz =1;

Console.WriteLine((float) x + y * z - (X += (short) y));
A. 0.1 B. 10

c. 11 D. 11

9. Which of the following statements is correct about the C#.NET code snippet given below?

short s1 = 20;
short s2 = 400;
inta;
a=s1*s2;

A. A value 8000 will be assigned to a.

B. A negative value will be assigned to a.


javascript:%20void%200;
javascript:%20void%200;
javascript:%20void%200;
javascript:%20void%200;
javascript:%20void%200;
javascript:%20void%200;
javascript:%20void%200;
javascript:%20void%200;
javascript:%20void%200;
javascript:%20void%200;
javascript:%20void%200;
javascript:%20void%200;
javascript:%20void%200;

During arithmetic if the result exceeds the high or low value of the range the value

o wraps around till the other side of the range.
D. Anerroris reported as widening conversion cannot takes place.
E An overflow error will be reported since the result of the multiplication exceeds

the range of a Short Integer.

10. Which of the following is the correct size of a Decimal datatype?

A. 8Bytes
B. 4Bytes
C. 10 Bytes
D. 16 Bytes

E. None of the above.

11. Which of the following statements are correct?

1. We can assign values of any type to variables of type object.
2. When a variable of a value type is converted to object, it is said to be unboxed.
3. When a variable of type object is converted to a value type, it is said to be boxed.
4. Boolean variable cannot have a value of null.
5. When a value type is boxed, an entirely new object must be allocated and
constructed.

A 25

B. 1,5

C. 3,4

D. 2,3

12. Which of the following is the correct ways to set a value 3.14 in a variable pi such that it
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cannot be modified?

A. float pi = 3.14F;

B. #define pi 3.14F;

C. const float pi = 3.14F;
D. const float pi; pi = 3.14F;
E. pi=3.14F

13. Which of the following statements are correct about data types?

1. Each value type has an implicit default constructor that initializes the default value of
that type.

It is possible for a value type to contain the null value.

All value types are derived implicitly from System.ValueType class.

It is not essential that local variables in C# must be initialized before being used.
Variables of reference types referred to as objects and store references to the actual
data.

agrwn

A 1,35

|

2,4

|O

3,5

D. 23,4

14. Which of the following are the correct way to initialise the variables i and j to a value 10
each?

inti=10;intj=10;
inti, j;
i=10:j=10;
inti=10,)=10;
inti, j=10;
inti=j=10;

RS S R
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A 24
B. 1,3
C. 3,5
D. 4,5

15. Which of the following statement correctly assigns a value 33 to a variable c?

bytea=11, b =22, c;

A. c=(byte) (a+b);

B. c=(byte)a+ (byte) b;
C. c=(int)a+ (int) b;
D. c=(int)(a+b);

E. c=a+b;

16. Which of the following statements are correct about datatypes in C#.NET?

Every datatype is either a value type or a reference type.

Value types are always created on the heap.

Reference types are always created on the stack.

Mapping of every value type to a type in Common Type System
facilitatesInteroperability in C#.NET.

5. Every reference type gets mapped to a type in Common Type System.

Eall el

A 1,3
B. 2,5
C. 14
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D. 3,4

17. Which of the following is the correct default value of a Boolean type?
A 0 B. 1

C. True D. False

|m
1
[HEN
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FUNCTIONS AND SUBROUTINES

1. Which of the following will be the correct output for the C#NET program given below?

namespace IndiabixConsoleApplication

{
class SampleProgram
{
static void Main(string[] args)
{
int num = 1;
funcv(num);
Console.Write(num + ", ";
funcr(ref num);
Console.Write(num + ", ");
}
static void funcv(int num)
{
num = num + 10; Console.Write(num + ", ");
}
static void funcr (ref int num)
{
num = num + 10; Console.Write(num + ", ");
}
}
}
A 1,111,
B. 11,1,11,11,
C. 11,11,11,11,
D. 11,11,21,11,
E. 11,11,21,21,

2. What will be the output of the C#NET code snippet given below?

namespace IndiabixConsoleApplication

{

class SampleProgram
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static void Main(string[] args)

{
int[Jarr = newint[]{ 1, 2, 3, 4,5 };
fun(ref arr);

}
static void fun(ref int[] a)
{
for (inti=0;i<a.Length; i++)
{
a[i] = a[i] * 5;
Console.Write(a[ 1] +™");
}
}
}
}
A. 12345
B. 678910
C. 510152025
D. 5251256253125
E. 612182430

3. Which of the following statements are correct?

=

An argument passed to a ref parameter need not be initialized first.

Variables passed as out arguments need to be initialized prior to being passed.

3. Argument that uses params keyword must be the last argument of variable argument
list of a method.

N

4. Pass by reference eliminates the overhead of copying large data items.

5. To use a ref parameter only the calling method must explicitly use the refkeyword.
A 1,2
B. 2,3
C. 3,4
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D.

E.

4,5

None of these

4. A function returns a value, whereas a subroutine cannot return a value.

A

True B. False

5. Which of the following statements are correct about functions and subroutines used in

C#.NET?
1. A function cannot be called from a subroutine.
2. The ref keyword causes arguments to be passed by reference.
3. While using ref keyword any changes made to the parameter in the method will be
reflected in that variable when control passes back to the calling method.

4. A subroutine cannot be called from a function.
5. Functions and subroutines can be called recursively.

A 1,24

B. 2,35

C. 3,5

D. 4,5

E. None of these

6. Which of the following will be the correct output for the C#NET program given below?

namespace IndiabixConsoleApplication

{

class SampleProgram

{

static void Main(string[] args)

{
inta=>5;
ints=0,c=0;
Proc(a, ref s, ref c);
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Console.WriteLine(s + " " + ¢);

¥

static void Proc(int x, ref int ss, ref int cc)

{
SS=X*X;
CC=X*X*X;
}

k
k

00

>

2525

|0

125 125

O

25125

|©

|rm

None of the above

7. What will be the output of the C#.NET code snippet given below?

namespace IndiabixConsoleApplication

{

class SampleProgram

{

static void Main(string[ ] args)
{

inti=10;

double d = 34.340;

fun(i);

fun(d);
}

static void fun(double d)

{
Console.WriteLine(d + " ");
}
}
}

A. 10.000000 34.340000
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B. 1034
C. 1034.340
D. 1034.34

8. Which of the following statements are correct?

1. C# allows a function to have arguments with default values.
2. C#allows a function to have variable number of arguments.
3. Omitting the return value type in method definition results into an exception.
4. Redefining a method parameter in the method's body causes an exception.
5. params is used to specify the syntax for a function with variable number of
arguments.
A. 1,35
B. 3,45
C. 2,5
D. 4,5

E. None of these

9. If aprocedure fun() is to receive an int, a Single & a double and it is to return a decimal then
which of the following is the correct way of defining this procedure?

fun(int i, Single j, double k) decimal

A.
= {..}
static decimal fun(int i, Single j, double k)
B.
= {..}
fun(int i, Single j, double k)
c. {

return decimal;
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D.

E.

static decimal fun(int i, Single j, double K) decimal

{..}

A procedure can never return a value.

10. If a function fun() is to receive an int, a Single & a double and it is to return a decimal then
which of the following is the correct way of defining this function?

A,

|0

O

|©

|rm

decimal static fun(int i, Single j, double k)

{..}
decimal fun(int i, Single j, double k)
{..}
static decimal fun(int i, Single j, double k)
{..}
static decimal fun(int i, Single j, double k) decimal
{..}
static fun(int i, Single j, double k)
{
.r.éturn decimal;
}

11. Which of the following statements are correct about functions used in C#NET?

agrownE

Function definitions cannot be nested.

Functions can be called recursively.

If we do not return a value from a function then a value -1 gets returned.

To return the control from middle of a function exit function should be used.
Function calls can be nested.
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A 1,25

B. 23,5

cC. 2,3

D. 4,5

E. None of these

12. How many values is a function capable of returning?

A 1

B. O

C. Depends upon how many params arguments does it use.
D.  Any number of values.

E.  Depends upon how many ref arguments does it use.

13. What will be the output of the C#NET code snippet given below?

namespace IndiabixConsoleApplication

{

class SampleProgram

{

static void Main(string[ ] args)

{
object[] o = new object[] {"1", 4.0, "India", 'B'};
fun (0);

}

static void fun (params object[] obj)

{
for (inti = 0; i < obj.Length-1; i++)
Console.Write(obj[i] +"");

}

}
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A. 140IndiaB
B. 14.0India
C. 1l4India

D. 1lindiaB

14. How many values is a subroutine capable of returning?

A.  Depends upon how many params arguments does it use.
B.  Any number of values.
C. Depends upon how many ref arguments does it use.

D. O

15. Which of the following CANNOT occur multiple number of times in a program?

A.  namespace B.  Entrypoint
C. Class D. Function

E. Subroutine

16. What will be the output of the C#NET code snippet given below?

namespace IndiabixConsoleApplication

{

class SampleProgram

{

static void Main(string[ ] args)

{

inti;
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int res = fun(out i);
Console.WriteLine(res);

¥

static int fun (out int i)

{
ints=1;
1=7,
for(intj=1;j <=1i; j++)
{ .
S=s*J;
}

return s;

[>
[
|
\l

720

|©
0
|©

|rm

5040

17. If a function fun() is to sometimes receive an int and sometimes a double then which of the
following is the correct way of defining this function?

A static void fun(object i)

{.}
B static void fun(int 1)
= {..}
static void fun(double i, int j)
C.
= {..}
static void fun(int i, double j)
D.
= {..}
£ static void fun(int i, double j, )

{..}
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18. Which of the following statements are correct about subroutines used in C#NET?

1. If we do not return a value from a subroutine then a value -1 gets returned.
2. Subroutine definitions cannot be nested.
3. Subroutine can be called recursively.
4. To return the control from middle of a subroutine exit subroutine should be used.
5. Subroutine calls can be nested.
A 1,23
B. 2,35
C. 3,5
D. 3,4
E. None of these

19. A function can be used in an expression, whereas a subroutine cannot be.

A. True B. False

20. Which of the following statements are correct about the C#.NET program given below?

namespace IndiabixConsoleApplication

{

class SampleProgram

{

static void Main(string[ ] args)
{
inta=>5;
ints=0,c=0;
s, ¢ = fun(a);
Console.WriteLine(s +" " +¢) ;

¥

static int fun(int x)

int ss, cc;
SS=X*X;CC=X*X*X;


javascript:%20void%200;
javascript:%20void%200;
javascript:%20void%200;
javascript:%20void%200;
javascript:%20void%200;
javascript:%20void%200;
javascript:%20void%200;

return ss, cc;

k
¥

1. Anerror will be reported in the statement s, ¢ = fun(a); since multiple values returned
from a function cannot be collected in this manner.

2. It will output 25 125.
3. It will output 25 0.
4. It will output 0 125.
5. An error will be reported in the statement return ss, cc; since a function cannot return
multiple values.
A 1,3
B. 2,4
C. 4,5
D. 1,5
E. None of these

21. What will be the output of the C#.NET code snippet given below?

namespace IndiabixConsoleApplication
{

class SampleProgram

{

static void Main(string[ ] args)
t
inti=>5;
int j;
funl(ref i);
fun2(out j);
Console.WriteLine(i + ", " + J);
}
static void funl(ref int x)
{
X=X*X;
}

static void fun2(out int x)
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5,6
5,36
25, 36

C.

25,0

al

50
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STRUCTURES

1. The space required for structure variables is allocated on stack.

A. True B. False

2. Creating empty structures is allowed in C#.NET.
A. True B. False

3. Which of the following will be the correct output for the C#.NET program given below?
namespace IndiabixConsoleApplication

{

struct Sample
{

public int i;
¥

class MyProgram

{

static void Main()
{
Sample x = new Sample();
x.1 =10;
fun(x);
Console.Write(x.i + " ");

¥

static void fun(Sample y)

{
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y.i =20;

Console.Write(y.i +"");

}
}
}
A, 1020
B. 1010
C. 2010
D. 2020

E.  None of the above

4. Which of the following is the correct way of setting values into the structure variable e
defined below?

struct Emp

{
public String name;
public int age;
public Single sal;

}

Emp e = new Emp();

e.name = "Amol";
A. e.age =25;
e.sal = 5500;

With e
{
B .name = "Amol";
- .age = 25;
.sal =5500;
}
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Withemp e

{
.name = "Amol";
.age = 25;
.sal = 5500;

}

O

e -> name = "Amol";
e ->age = 25;
e -> sal = 5500;

|©

name = "Amol";
age = 25;
sal = 5500

|rm

5. Which of the following is the correct way to define a variable of the type struct Empdeclared
below?

struct Emp

{
private String name;
private int age;
private Single sal;

¥

Emp e(); e = new Emp();
Emp e = new Emp;

Emp e; e = new Emp;
Emp e = new Emp();
Empe;

AR A

>

1,3

|0

2,5

O

4,5

|©

1,2,4
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6. Which of the following statements is correct about the C#£NET code snippet given below?

class Trial

t
inti;
Decimal d;

¥

struct Sample

{

private int X;
private Single y;
private Trial z;

¥

Sample ss = new Sample();
A. sswill be created on the heap.
B.  Trial object referred by z will be created on the stack.
C.  z will be created on the heap.
D. Both ss and z will be created on the heap.

E. sswill be created on the stack.

7. How many bytes will the structure variable samp occupy in memory if it is defined as shown
below?

class Trial

t
inti;
Decimal d;

}

struct Sample

t
private int x;
private Single y;
private Trial z;

¥

Sample samp = new Sample();
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A. 20 bytes
B. 12 bytes
C. 8hbytes

D. 16 bytes
E. 24 bytes

8. Which of the following will be the correct result of the statement b = a in the C#£NET code
snippet given below?

struct Address

{

private int plotno;
private String city;

}
Address a = new Address();

Address b;
b=a;

A.  All elements of a will get copied into corresponding elements of b.
B.  Address stored in a will get copied into b.

C.  Once assignment is over a will get garbage collected.

D.  Once assignment is over a will go out of scope, hence will die.

E.  Address of the first element of a will get copied into b.

9. Which of the following statements are correct?

A struct can contain properties.

A struct can contain constructors.

A struct can contain protected data members.
A struct cannot contain methods.

el A
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5. A struct cannot contain constants.

A 1,2
B. 3.4
C. 1,24
D. 3,5

10. C#.NET structures are always value types.

A. True B. False

11. When would a structure variable get destroyed?

A.  When no reference refers to it, it will get garbage collected.

B.  Depends upon whether it is created using new or without using new.
C.  When it goes out of scope.

D. Depends upon the Project Settings made in Visual Studio.NET.

E. Depends upon whether we free it's memory using free() or delete().

12. Which of the following statements is correct about the C#.NET code snippet given below?

struct Book

{
private String name;
private int noofpages;
private Single price;

}

Book b = new Book();

A.  The structure variable b will be created on the heap.
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B.  We can add a zero-argument constructor to the above structure.

C.  When the program terminates, variable b will get garbage collected.
D. The structure variable b will be created on the stack.

E.  We can inherit a new structure from struct Book.

13. Which of the following will be the correct output for the C#NET program given below?

namespace IndiabixConsoleApplication

{

struct Sample

{
¥

class MyProgram

{

static void Main(string[] args)

{

public int i;

Sample x = new Sample();
X.i =10;

fun(ref x);
Console.Write(x.i +"");

}
public static void fun(ref Sample y)

{
y.i = 20;
Console.Write(y.i +"");
}
}
}

2010

>

10 20

|0

10 10

O

20 20

|©
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E.  None of the above

14. Which of the following statements is correct?

A. A struct never declares a default constructor.

All value types in C# inherently derive from ValueType, which inherits
fromObject.

C. A sstruct never declares a default destructor.

D. In C#, classes and structs are semantically same.

15. Which of the following statements are correct about the structure declaration given below?

struct Book

{
private String name;
protected int totalpages;
public Single price;
public void Showdata()
{

Console.WriteLine(name + " " + totalpages + " " + price);

}
Book()

{
name =" ",
totalpages = 0;
price = 0.0f;

}

}
Book b = new Book();

We cannot declare the access modifier of totalpages as protected.
We cannot declare the access modifier of name as private.

We cannot define a zero-argument constructor inside a structure.
We cannot declare the access modifier of price as public.

We can define a Showdata() method inside a structure.

orwdPE

>

1,2


javascript:%20void%200;
javascript:%20void%200;
javascript:%20void%200;
javascript:%20void%200;
javascript:%20void%200;
javascript:%20void%200;

B.
C.

D.

1,35

2,4

3,4,5

16. Which of the following are true about classes and struct?

=

ok w

o @ >

|©

A class is a reference type, whereas a struct is a value type.

Obijects are created using new, whereas structure variables can be created
either using new or without using new.

A structure variable will always be created slower than an object.

A structure variable will die when it goes out of scope.

An object will die when it goes out of scope.

1,2,4
3,5
2,4

3,4,5

17. Which of the following will be the correct output for the program given below?

namespace IndiabixConsoleApplication

{

struct Sample

{

public int i;

ky

class MyProgram

{

static void Main(string[] args)

{

Sample x = new Sample();
Sample y;

X.1=09;

y=X

y.i=5;
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Console.WriteLine(x.i + " " + y.i);

}
}
}
A. 99
B. 95
C. 55
D. 59
E. None of the above

18. Which of the following statements are correct about Structures used in C#£NET?

A Structure can be declared within a procedure.

Structs can implement an interface but they cannot inherit from anotherstruct.
struct members cannot be declared as protected.

A Structure can be empty.

It is an error to initialize an instance field in a struct.

orwdPE
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1,2,4

|0

2,3,5

2,4

|O

1,3

|©
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CLASSES AND OBJECTS

1. Which of the following statements is correct about the C#NET code snippet given below?

class Student s1, s2; // Here 'Student' is a user-defined class.
s1 = new Student();
s2 = new Student();

A. Contents of s1 and s2 will be exactly same.

B.  The two objects will get created on the stack.

C. Contents of the two objects created will be exactly same.

D. The two objects will always be created in adjacent memory locations.
E.  We should use delete() to delete the two objects from memory.

2. Which of the following statements is correct about the C#NET code snippet given below?

class Sample

t
private int i
public Single j;
private void DisplayData()
{

Console.WriteLine(i + " " + j);

public void ShowData()
{

Console.WriteLine(i + " " + j);

¥
¥

A. ] cannot be declared as public.

|0

DisplayData() cannot be declared as private.

C. DisplayData() cannot access j.
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D.

E.

ShowData() cannot access to i.

There is no error in this class.

3. Which of the following statements are correct?

orwdPE

© © = >

|rm

Instance members of a class can be accessed only through an object of thatclass.
A class can contain only instance data and instance member function.

All objects created from a class will occupy equal number of bytes in memory.
A class can contain Friend functions.

A class is a blueprint or a template according to which objects are created.

1,35
2,4
3,5
2,4,5

None of these

4. Which of the following statements is correct?

A

Procedural Programming paradigm is different than structured programming
paradigm.

Object Oriented Programming paradigm stresses on dividing the logic into smaller
parts and writing procedures for each part.

Classes and objects are corner stones of structured programming paradigm.

Object Oriented Programming paradigm gives equal importance to data and the
procedures that work on the data.

C#.NET is a structured programming language.
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5. Which of the following is the correct way to create an object of the class Sample?

1. Sample s = new Sample();
2. Samples;
3. Sample s; s = new Sample();
4. s=new Sample();

A 1,3

B. 2,4

cC. 1,23

D. 4,5

E. None of these

6. Which of the following will be the correct output for the C#NET program given below?

namespace IndiabixConsoleApplication

{

class Sample
t
inti;
Single j;
public void SetData(int i, Single j)

public void Display()
{

Console.WriteLine(i + " " + j);
}
}

class MyProgram

{

static void Main(string[ ] args)

{

Sample s1 = new Sample();
s1.SetData(10, 5.4f);
s1.Display();
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}
}
A. 00
B. 1054
C. 105.400000
D. 105
E.  None of the above

7. The this reference gets created when a member function (non-shared) of a class is called.

A.  True B. False

8. Which of the following statements are correct?

1. Data members ofa class are by default public.
2. Data members of a class are by default private.
3. Member functions of a class are by default public.
4. A private function of a class can access a public function within the same class.
5. Member function of a class are by default private.
A. 1,35
B. 1,4
C. 2,45
D. 1,23
E. None of these

9. Which of the following statements is correct about the C#.NET code snippet given below?
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namespace IndiabixConsoleApplication

{

class Sample

{

public int index;
public int[] arr = new int[10];

public void fun(int i, int val)

{

k
k

class MyProgram

{

static void Main(string[] args)

{

arr[i] = val;

Sample s = new Sample();
s.index = 20;
Sample.fun(l, 5);
s.fun(l, 5);
}
}
}

>

s.index = 20 will report an error since index is public.

|

The call s.fun(1, 5) will work correctly.

O

Sample.fun(l, 5) will set a value 5 inarr[ 1].

|©

The call Sample.fun(1, 5) cannot work since fun() is not a shared function.

|rm

arr being a data member, we cannot declare it as public.

10. Which of the following statements are correct about the C#NET code snippet given below?

sample c;
¢ = new sample();

1. It will create an object called sample.
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E.

It will create a nameless object of the type sample.

It will create an object of the type sample on the stack.

It will create a reference c on the stack and an object of the type sample on the heap.
It will create an object of the type sample either on the heap or on the stack
depending on the size of the object.

1,3
2,4
3,5
4,5

None of these

11. Which of the following statements is correct about the C#.NET code snippet given

below?

inti;

int j = new int();

i=10;
j=20;

String str;
str = i.ToString();
str = j.ToString();

A

© © |@

|rm

This is a perfectly workable code snippet.

Since int is a primitive, we cannot use new with it.

Since an int is a primitive, we cannot call the method ToString() using it.
i will get created on stack, whereas j will get created on heap.

Both i and j will get created on heap.

12. Which of the following statements are correct about the this reference?
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this reference can be modified in the instance member function of a class.

Static functions of a class never receive the this reference.

Instance member functions of a class always receive a this reference.

this reference continues to exist even after control returns from an instance member
function.

While calling an instance member function we are not required to pass

the thisreference explicitly.

1,4
2,3,5
3,4
2,5

None of these

13. Which of the following will be the correct output for the C#NET program given below?

namespace IndiabixConsoleApplication

{
class Sample
t
inti;
Single j;
public void SetData(int i, Single j)
{
this.i =1,
this.j = j;
}
public void Display()
{
Console.WriteLine(i + " " +J);
}
}

class MyProgram

{

static void Main(string[ ] args)

{

Sample s1 = new Sample();
s1.SetData(36, 5.4f);
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s1.Display();

}
}
}
A, 000
B. 3654
C.  365.400000
D. 365

E. None of the above

14. Which of the following statements are correct about objects of a user-defined class
calledSample?

1. All objects of Sample class will always have exactly same data.

2. Objects of Sample class may have same or different data.

3. Whether objects of Sample class will have same or different data depends upon a
Project Setting made in Visual Studio.NET.

4. Conceptually, each object of Sample class will have instance data and instance
member functions of the Sample class.

5. All objects of Sample class will share one copy of member functions.

A 1,3
B. 24
C. 4,5
D. 3,5
E. None of these

15. Which of the following statements are correct about the C#NET code snippet given below?

namespace IndiabixConsoleApplication
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{

class Sample
t
inti, j;
public void SetData(int ii, int jj)
{
this.i = ii;
this.j = jj
}
}

class MyProgram

{

static void Main(string[ ] args)
{
Sample s1 = new Sample();
s1.SetData(10, 2);
Sample s2 = new Sample();
s2.SetData(5, 10);

}
}
}
A.  The code will not compile since we cannot explicitly use this.
B.  Using this in this program is necessary to properly set the values in the object.
C The call to SetData() is wrong since we have not explicitly passed the thisreference
=  toit.
D The definition of SetData() is wrong since we have not explicitly collected
= thethis reference.
E. Contents of this will be different during each call to SetData().

16. Which of the following statements is correct about classes and objects in C#£NET?

A. Class is a value type.
B.  Since objects are typically big in size, they are created on the stack.

C.  Objects of smaller size are created on the heap.
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D. Smaller objects that get created on the stack can be given names.

E. Objects are always nameless.
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ENUMERATIONS

1. Which of the following statements are correct about an enum used inC#.NET?

1.

SRR

o @ >

|©

By default the first enumerator has the value equal to the number of
elements present in the list.

The value of each successive enumerator is decreased by 1.

An enumerator contains white space in its name.

A variable cannot be assigned to an enum element.

Values of enum elements cannot be populated from a database.

1,2
3,4
4,5

1,4

2. Which of the following statements is correct about the C#NET code snippet given below?

inta = 10;
int b = 20;
int ¢ = 30;
enum color: byte
{
red = a,
green = b,
blue =c¢
}
A.  Variables cannot be assigned to enum elements.
B.  Variables can be assigned to any one of the enum elements.
C. Variables can be assigned only to the first enum element.
D. Values assigned to enum elements must always be successive values.
E. Values assigned to enum elements must always begin with 0.
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3. Which of the following statements is true about an enum used in C#.NET?

A. Animplicit cast is needed to convert from enum type to an integral type.

B.  Anenum variable cannot have a public access modifier.
C. Anenum variable cannot have a private access modifier.
D. Anenum variable can be defined inside a class or a namespace.

E.  Anenum variable cannot have a protected access modifier.

4. Which of the following is the correct output for the C#£NET code snippet given below?

enum color
{
red,
green,
blue
}
color c;
¢ = color.red;
Console.WriteLine(c);

A 1

|®
1
-

C. red

|©
o

E. color.red

5. Which of the following statements are correct about an enum used inC#.NET?

To use the keyword enum, we should either use [enum] or System.Enum.
enum is a keyword.

Enum is class declared in System.Type namespace.

Enum is a class declared in the current project's root namespace.

Enum is a class declared in System namespace.

koo
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A 1,3
B. 24
C. 2,5
D. 3.4

6. Which of the following will be the correct output for the C#NET code snippet given below?

enum color : int
{

red = -3,

green,

blue
}
Console.Write( (int) color.red + ", ™);
Console.Write( (int) color.green +", ");
Console.Write( (int) color.blue );

A, -3,-2,-1
B. -301
C. 01,2

D. red, green, blue

E. color.red, color.green, color.blue

7. Anenum that is declared inside a class, struct, namespace or interface is treated as public.
A. True B. False
8. Which of the following statements is correct about the C#.NET code snippet given below?

enum per

{
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married,

unmarried,

divorced,

spinster
}
per.married = 10;
Console.WriteLine(per.unmarried);

A.  The program will output a value 11.

B.  The program will output a value 1.

C. The program will output a value 2.

D. The program will report an error since an enum element cannot be assigned a value
= outside the enum declaration.

E. The enum elements must be declared private.

9. Which of the following is the correct output for the C#£NET code snippet given below?

enum color: int
{
red,
green,
blue =5,
cyan,
magenta = 10,
yellow
}
Console.Write( (int) color.green +",");
Console.Write( (int) color.yellow );

A 2,11
B. 1,11
C. 2,6

D. 1,5


javascript:%20void%200;
javascript:%20void%200;
javascript:%20void%200;
javascript:%20void%200;
javascript:%20void%200;
javascript:%20void%200;
javascript:%20void%200;
javascript:%20void%200;
javascript:%20void%200;

E.  None of the above

10. An enum can be declared inside a class, struct, namespace or interface.

A.  True B. False

11. Which of the following CANNOT be used as an underlying datatype for an enum in
C#.NET?

A. Dbyte

B. short
C. float
D. int

12. Which of the following statements are correct about enum used in C#£NET?

Every enum is derived from an Object class.

Every enum is a value type.

There does not exist a way to print an element of an enum as a string.
Every enum is a reference type.

The default underlying datatype of an enum is int.

orwdPE

1,2,5
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1,4

O

3,5

|©

2,3,4

13. Which of the following statements is correct about the C#.NET code snippet given below?

enum color : byte

{
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red = 500,
green = 1000,
blue = 1500

ky

A.  byte values cannot be assigned to enum elements.

B. enum elements should always take successive values.

C. Since 500, 1000, 1500 exceed the valid range of byte compiler will report anerror.
D. enum must always be of int type.

E. enum elements should be declared as private.

14. Which of the following is the correct output for the C#NET code snippet given below?

enum color
{
red,
green,
blue
}
color ¢ = color.red;
Type t;
t = c.GetType();
string] ]str;
str = Enum.GetNames(t);
Console.WriteLine(str[ 0 ]);

A. red

&
o

c. 1

|©
R

E. color.red

15. Which of the following statements are correct about the C#NET code snippet given below?

namespace IndiabixConsoleApplication

(
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class Sample
{
private enum color : int
{
red,
green,
blue
}
public void fun()

{

Console.WriteLine(color.red);
}
}
class Program

{

static void Main(string[ ] args)

{

/ Use enum color here

k
ks
k

1. To define a variable of type enum color in Main(), we should use the statement,color
c; .

2. enum color being private it cannot be used in Main().

3. We must declare enum color as public to be able to use it outside the class Sample.

4. To define a variable of type enum color in Main(), we should use the
statement,Sample.color c; .

5. We must declare private enum color outside the class to be able to use it inMain().

A 1,23

|0

2,3,4

|O

3,4

|©

4,5

16. Which of the following statements is correct about an enum used in C#£NET?

A. enum is a reference type.
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enum is a value type.
Whether it a value type or a reference type depends upon size.

Whether it a value type or a reference type depends upon a Project
Setting made in Visual Stiiclio.NET.

We can programmatically control whether it is a value type or a reference
type.

17. Which of the following statements are correct about an enum used in C#£NET?

orwdPE
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An enum can be declared inside a class.

An enum can take Single, Double or Decimal values.
An enum can be declared outside a class.

An enum can be declared inside/outside a namespace.
An object can be assigned to an enum variable.

1,34
2,5
3,4

2,4,5
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EXCEPTION HANDLING

1. Which of the following is NOT a .NET Exception class?

A. Exception

B. StackMemoryException
C. DivideByZeroException
D. OutOfMemoryException
E. InvalidOperationException

2. Which of the following statements is correct about an Exception?

A. Itoccurs during compilation.

B.  Itoccurs during linking.

C. Itoccurs at run-time.

D. Itoccurs during Just-In-Time compilation.

E.  Itoccurs during loading of the program.

3. In C#.NET if we do not catch the exception thrown at runtime then which of the following
will catch it?

A.  Compiler
B. CLR

C. Linker

D. Loader

E.  Operating system
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4. Which of the following statements is correct about the C#.NET program given below?

using System;
namespace IndiabixConsoleApplication

{
class MyProgram
{
static void Main(string[] args)
{
int index = 6;
int val = 44;
int[] a = new int[5];
try
a[index] = val ;
}
catch(IndexOutOfRangeException €)
{
Console.Write("Index out of bounds *);
}
Console.Write("Remaining program");
}
}
}
A.  Value 44 will get assigned to a[6].
B. It will output: Index out of bounds
C. It will output: Remaining program
D. It will not produce any output.
E. It will output: Index out of bounds Remaining program

5. Which of the following statements are correct about exception handling in C#NET?

1. If an exception occurs then the program terminates abruptly without getting any
chance to recover from the exception.

2. No matter whether an exception occurs or not, the statements in the finallyclause (if

present) will get executed.

A program can contain multiple finally clauses.

4. A finally clause is written outside the try block.

w
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finally clause is used to perform clean up operations like closing the
network/database connections.

1 only
2 only
2 and 5 only
3 and 4 only

None of the above

6. Which of the following statements are correct about exception handling in C#NET?

orwdPE
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E.

If our program does not catch an exception then the .NET CLR catches it.
It is possible to create user-defined exceptions.

All types of exceptions can be caught using the Exception class.
CLREXxceptions is the base class for all exception classes.

For every try block there must be a corresponding finally block.

1and 2 only
1,2 and 3 only
4 and 5 only
All of the above

None of the above

7. Which of the following statements are correct about the exception reported below?

Unhandled Exception: System.IndexOutOfRangeException: Index was outside the bounds of

the array: at IndiabixConsoleApplication.MyProgram.SetVal(Int32 index, Int32 val) in
D:\Sample\indiabixConsoleApplication\MyProgram.cs:line 26 at
IndiabixConsoleApplication.MyProgram.Main(String[] args) in
D:\Sample\indiabixConsoleApplication\MyProgram.cs:line 20

1. The CLR failed to handle the exception.
2. The class MyProgram belongs to the namespace MyProgram.
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3. The function SetVal() was called from Main() in line number 20.
4. The exception occurred in line number 26 in the function SetVal()
5. The runtime exception occurred in the project IndiabixConsoleApplication.

A. lonly

B. land2only

C. 3,4and5only
D. All of the above

E. None of the above

8. Which of the following is the Object Oriented way of handling run-time errors?

A. OnError

B. HERESULT
C.  Exceptions
D.  Error codes

E.  Setjump and Longjump

9. Which of the following statements is correct about the C#.NET program given below if a
value "6" is input to it?

using System;
namespace IndiabixConsoleApplication
{
class MyProgram
{
static void Main(string[] args)
{
int index;
int val = 44;
int[] a = new int[5];
try
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E.

{

Console.Write("Enter a number:");
index = Convert.Tolnt32(Console.ReadLine());

a[index] = val;
}
catch(FormatException e)
{

Console.Write("Bad Format™);

catch(IndexOutOfRangeException e)
{

Console.Write("Index out of bounds");

¥

Console.Write("Remaining program™);

It will output: Index out of bounds Remaining program
It will output: Bad Format Remaining program

It will output: Bad Format

It will output: Remaining program

It will output: Index out of bounds

10. Which of the following statements are correct about the exception reported below?
Unhandled Exception: System.IndexOutOfRangeException:
Index was outside the bounds of the array.
at IndiabixConsoleApplication.Program.Main(String[] args) in
D:\ConsoleApplication\Program.cs:line 14

el el

A.

The program did not handle an exception called IndexOutOfRangeException.
The program execution continued after the exception occurred.

The exception occurred in line number 14.

In line number 14, the program attempted to access an array element which was
beyond the bounds of the array.

The CLR could not handle the exception.

1 only
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1,2 and 3 only
2 and 5 only
1,3 and 4 only

None of the above

11. Which of the following statements are correct about exception handling in C#.NET?

orwdPE
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E.

try blocks cannot be nested.

In one function, there can be only one try block.

An exception must be caught in the same function in which it is thrown.

All values set up in the exception object are available in the catch block.

While throwing a user-defined exception multiple values can be set in the exception,
object.

1 only
1and 2 only
3only
4 and 5 only

All of the above

12. Exceptions can be thrown even from a constructor, whereas error codes cannot be returned
from a constructor.

A

True B. False

13. Which of the following statements is correct about the C#£NET program given below if a
value "6" is input to it?

using System;
namespace IndiabixConsoleApplication

{
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class MyProgram

{
static void Main (string[] args)
{
int index;
int val = 66;
int[] a = new int[5];
try
{
Consote.Write("Enter a number: ™);
index = Convert.Tolnt32(Console.ReadLine());
a[index] = val;
}
catch(Exception e)
{
Console.Write("Exception occurred ");
}
Console.Write("Remaining program ");
}
}
}
A. It will output: Exception occurred
B. It will output: Remaining program
C. It will output: Exception occurred Remaining program
D. It will output: Remaining program Exception occurred

E. The value 66 will get assigned to a[6].

14. Which of the following statements is correct about the C#NET program given below if a
value "ABCD" is input to it?

using System;
namespace IndiabixConsoleApplication

{

class MyProgram

{

static void Main(string[] args)

{

int index;
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int val = 55;

int[] a = new int[5];
try

{

Console.Write("Enter a number: ");
index = Convert.Tolnt32(Console.ReadLine());

a[index] = val,
:gatch(FormatException e)
¢ Console.Write("Bad Format ");
:gatch(lndexOutOfRangeException e)
¢ Console.Write("Index out of bounds *);
%Zonsole.Write("Remaining program ");
}
}
}
A. Itwill output: Bad Format
B. It will output: Remaining program
C. It will output: Index out of bounds
D. It will output: Bad Format Remaining program

E. It will output: Index out of bounds Remaining program

15. All code inside finally block is guaranteed to execute irrespective of whether an exception
occurs in the protected block or not.

A. True B. False

16. Which of the following is NOT an Exception?
A.  StackOverflow

B. Division By Zero


javascript:%20void%200;
javascript:%20void%200;
javascript:%20void%200;
javascript:%20void%200;
javascript:%20void%200;
javascript:%20void%200;
javascript:%20void%200;
javascript:%20void%200;
javascript:%20void%200;

C. Insufficient Memory
D. Incorrect Arithmetic Expression

E.  Arithmetic overflow or underflow

17. Which of the following statements is correct about the C#£NET program given below if a
value "ABCD" is input to it?

using System;
namespace IndiabixConsoleApplication

{
class MyProgram
{
static void Main(string[] args)
{
int index;
int vat = 88;
int[] a = new int(5];
try
{
Console.Write("Enter a number: ");
index = Convert.Toint32(Console.ReadLine());
a[index] = val,
}
catch(Exception e)
{
Console.Write("Exception occurred™);
}
Console.Write("Remaining program");
}
}
}
A. It will output: Exception occurred
B. It will output: Remaining program
C. Itwill output: Remaining program Exception occurred
D. It will output: Exception occurred Remaining program
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E.  The value 88 will get assigned to a[0].

18. It is compulsory for all classes whose objects can be thrown with throw statement to be
derived from System.Exception class.

A. True B. False
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COLLECTION CLASSES

1. Which of the following statements are correct about an ArrayL.ist collection that
implements the IEnumerable interface?

1.

2.

w

>

|

O

|©

E.

The ArrayList class contains an inner class that implements
the IEnumeratorinterface.

An ArrayList Collection cannot be accessed simultaneously by different
threads.

The inner class of ArrayList can access ArrayList class's members.

To access members of ArrayList from the inner class, it is necessary to
passArrayList class's reference to it.

Enumerator's of ArrayList Collection can manipulate the array.

1and 2 only

1and 3 and 4 only
2 and 5 only

All of the above

None of the above

2. How many enumerators will exist if four threads are simultaneously working on
anArrayList object?

A,
B.
C.

D.

E.

1

Depends upon the Project Setting made in Visual Studio.NET.

3. In which of the following collections is the Input/Output index-based?

1. Stack
2. Queue
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3. BitArray
4. ArrayList
5. HashTable
A. land2only
B. 3and4only
C. 5only
D. 1,2and5only
E. All of the above

4. In which of the following collections is the Input/Output based on a key?

Map

Stack
BitArray
HashTable
SortedList

agkrownE

A. land2only
B. 2and3only
C. 1,2and3only
D. 4and5only

E. All of the above

5. InaHashTable Key cannot be null, but VValue can be.

A. True B. False

6. Which of the following statements are correct about the C#.NET code snippet given below?
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Stack st = new Stack();
st.Push("hello™);
st.Push(8.2);
st.Push(b);

st.Push('b);
st.Push(true);

Dissimilar elements like "hello", 8.2, 5 cannot be stored in the

A same Stackcollection.

B. Boolean values can never be stored in Stack collection.

C. Inthe fourth call to Push(), we should write "b" in place of 'b'.

D. To store_dissimilar elements in a Stack collection, a method PushAnyType()should
= be used in place of Push().

E. Thisis a perfectly workable code.

7. Which of the following statements are correct about the Stack collection?

1. It can be used for evaluation of expressions.
2. All elements in the Stack collection can be accessed using an enumerator.
3. Itis used to maintain a FIFO list.
4. All elements stored in a Stack collection must be of similar type.
5. Top-most element of the Stack collection can be accessed using the Peek()method.
A. land2only
B. 3and4only
C. 1,2and5only
D. All of the above

E.  None of the above

8. A HashTable t maintains a collection of names of states and capital city of each state. Which
of the following is the correct way to find out whether "Kerala" state is present in this
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collection or not?

A. t.ContainsKey("Kerala");

B. tHasValue("Kerala");
C. t.HasKey("Kerala");
D. t.ContainsState("Kerala");

E. t.ContainsValue("Kerala");

9. Which of the following is the correct way to access all elements of the Queue collection
created using the C#£NET code snippet given below?

Queue g = new Queue();
g.Enqueue("Sachin™);
g.Enqueue('AY);
g.Enqueue(false);
g.Enqueue(38);
g.Enqueue(5.4);

IEnumerator e;

e = g.GetEnumerator();

while (e.MoveNext())
Console.WriteLine(e.Current);

>

IEnumerable e;

e = g.GetEnumerator();

while (e.MoveNext())
Console.WriteLine(e.Current);

|0

IEnumerator e;

e = g.GetEnumerable();

while (e.MoveNext())
Console.WriteLine(e.Current);

O

IEnumerator €;
e = Queue.GetEnumerator();

|©
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while (e.MoveNext())
Console.WriteLine(e.Current);

10. Which of the following is NOT an interface declared in System.Collectionsnamespace?

A

O |

|©

E.

IComparer
IEnumerable
IEnumerator
IDictionaryComparer

IDictionaryEnumerator

11. Suppose value of the Capacity property of ArrayList Collection is set to 4. What will be the
capacity of the Collection on adding fifth element to it?

A.

C.

4 B. 8

16 D. 32

12. Which of the following is an ordered collection class?

orwdPE

Map
Stack
Queue
BitArray
HashTable

1 only
2 and 3 only
4 and 5 only

All of the above
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E.

None of the above

13. Which of the following is the correct way to find out the number of elements currently
present in an ArrayList Collection called arr?

A,

B.

© |0

|rm

arr.Count
arr.GrowSize
arr.MaxIndex
arr.Capacity

arr.UpperBound

14. Which of the following statements are correct about a HashTable collection?

AR

LI R b

|©

E.

It is a keyed collection.

It is a ordered collection.

It is an indexed collection.

It implements a IDictionaryEnumerator interface in its inner class.
The key - value pairs present in a HashTable can be accessed using
the Keysand Values properties of the inner class that implements
thelDictionaryEnumerator interface.

1and 2 only
1,2 and 3 only
4 and 5 only
1,4 and 5 only

All of the above

15. Which of the following is the correct way to access all elements of the Stack collection
created using the C#.NET code snippet given below?
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Stack st = new Stack();
st.Push(11);
st.Push(22);
st.Push(-53);
st.Push(33);
st.Push(66);

>

|0

O

|©

IEnumerable e;

e = st.GetEnumerator();

while (e.MoveNext())
Console.WriteLine(e.Current);

IEnumerator e;

e = st.GetEnumerable();

while (e.MoveNext())
Console.WriteLine(e.Current);

IEnumerator e;

e = st.GetEnumerator();

while (e.MoveNext())
Console.WriteLine(e.Current);

IEnumerator e;

e = Stack.GetEnumerator();
while (e.MoveNext())
Console.WriteLine(e.Current);

16. Which of the following statements are correct about the Collection Classes available in
Framework Class Library?

A

B.

O

|©

Elements of a collection cannot be transmitted over a network.
Elements stored in a collection can be retrieved but cannot be modified.
It is not easy to adopt the existing Collection classes for newtype of objects.

Elements stored in a collection can be modified only if allelements are of similar
types.
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They use efficient algorithms to manage the collection, thereby improving the
—  performance of the program.
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